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BEFORE ATTEMPTING THE QUESTIONS READ INSTRUCTIONS CAREFULLY.

o 3wrdiwa oifs AT / Instructions to Candidates :

1. ofw@m NoME (el oS S epr Taa sffywia esf O oAf AW, am THE g
@RI wwr e (g fee Sar sifyait afon am e Zoe o )| SRR Yo7 oy Ffa
ST RRfefeneibaa wwe offw (em quronE |
The candidate is required to write his/ her Full Name, Roll Number and Reglstration Number
on the Question-cum-Answer Booklet according to the Admit Card issued by the Council ( If it is
wrongly written, the Question-cum-Answer Booklet may be rejected ). It is compulsory for the
examinee to get the Question-cum-Answer Booklet signed by the Invigilator in the space provided.

2. wfsfefes credfia of el ore orfie Nos Tow SR oF @I T@ AW CFGT AL, TF
5% R (a, b, ¢ W@ d) Frege T Nfre Soafefae erAla (5 FEEa ) ool erm s

g Ted R T AR were Wk Sew s 2@, W A9

A box is provided at the right side bottom against each question of MCQ for both the versions.
You must write the correct choice ( a, b, ¢ or d ) in this box. For SAQ of 1 mark, answer to be
written in the specific given space against each question, not anywhere else.

3. oFwl ot g o BEAeiEE MY @R errie Tuw ol wrenE ey e z@

After completion of the examination this Question-cum-Answer Booklet must be tied
securely with main Answer-script.
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1. m@waﬁamcmmmmﬁmm(maﬂgﬁﬁm):1x24.24

Select the correct answer from the altEFnalives (Ancrnativcs are to be
. a .

noted) :

(i)

2-input RMR XNOR gate.q q input A @ [ 701 0 output f & 2

Wi 4B (b) AB+AB

(C) AB + AB (d) A+ B

The output of a 2-input XNOR gate with inputs A and B is given by

(@  AB (b) AB+AB

() AB+AB d A+B []

0 et

To@re diagram fore Faz ¥= & 2@ 2

@ 4B () 4B

(c/ A+B d A+B

A _) S; F

B_

What will be the value of Fin the above diagram ?

(a) AB (b) AB

(c) A+B (d) A+B D

weal / OR )
sciencemaster.in
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8:1 MUX-4 gelection line-93 Y z#

(a) 2 (b) 3
(c) 4 (d S
The number of selection lines in 8 : 1 MUX is

(@) 2 (b) 3

(€ 4 (d 5 L]

(iii)

@3 circuit-93 T ‘@M FRW I& Wfes switch’-aa Tarzad 24
(@) * Logical AND (b) Logical NOT

(c)  Logical OR (d) «amF @R T8

'Electric switches in series combination' in a circuit is an example of

(a) Logical AND (b) Logical NOT
(c)  Logical OR (d) none of these ]
weat / OR

Multiplexer (&1 37t 63 3 gate b ooy 7 2

(a) AND (b) OR

(©) NOT (d) A ATIe |
(e7i61] [We-cowal sciencemaster.in, o
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Whi .
hich of the fOHOWing —_ t rcquifcd to implement g
no

multiplexer ?

(a) AND
(b) OR

¢ N
(©) oT (d) All of these are necessary: D

(iv)

A @ B input variables 1% aafh Half-Adder-4 sum expression

110 B
(@ AB (b) AB+AB
(0 AB+AB (d A+B

What will be the sum expression of a Half-Adder, having input

variables A and B?

a) AB (b) AB+ AB

AB+AB (d A+B D

)

gaf decimal to binary encoder-4 output S bit-9¥ T ?

@ 3 o *

© ) (d 8

—" sciencemaster.in 5 of 24
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How many output bits are there in a decimal to binary encoder ?

(b) 4

d 8 ]

(a) 3

(vi)

wuy s 'start’ @at 'stop’ bit &TIE |

(a)  Parallel (b) Synchronous

(c)  Asynchronous (d) asfr @

.............. data transmission mode needs 'start’ and 'stop' bits.

(@)  Parallel (b) Synchronous

(c)  Asynchronous (d) All of these B

(vii)

f5a @ topology-3 C¥t@ multipoint line configuration BISEICE R

(a) Mesh (b) Bus

(c) Star. (d) Ot @R T |

Multipoint line configuration is used in which of the following

topology ?
(a) Mesh (b) Bus
(¢ Star | (d) None of these. ]
wwal / OR
o [ sciencemaster.in .
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@ topology-a (%t@ e zq 7
i Point-to-point connection D

(a) Star .
(b) Ring

(C) Mesh (d) @ xa‘afﬂ'

In which topology, point to point connection is used ?

(a) Star (b) Ring

(c)  Mesh (d) All of these.

(viii)

E-mail-a3 o 7eif 5 2

(a)  Electronic letter (b) Easy mail
(c)  Electronic mail (d) bz 79
What is the full form of E-mail ?

(a)  Electronic letter (b) Easy mail

(c)  Electronic mail (d) None of these

(ix) @=fb paragraph-4a9 o1 (ARTTS frefafie @ tag B aee 23 2
(a) <TD> (b) <br>
(C) <P> (d) <TR>
sciencemaster.in
L6716.1] [Ns-coMA|
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Which of the following tag is used to mark the beginning of a
paragraph ?

(@) <TD> (b) <br>

) <P> (d) <TR> D

(x) HTML-a @1 document %S CI71 computer-4 @ are s 2

(a) Internet Explorer (b) VI editor
() MS Word (d) Media player

To read an HTML document which one should be there in

computer ?
(a) Internet Explorer (b) VI editor

(¢ MS Word (d) Media player : D

(xi) Fefafe @ tag-b number list ofd A0S TS W ?
(@@ <UL> (b) <OL>
(c) <NL> (d) @R 71

Which of the following tag is used to create number list ?
(a) <UL> (b) <OL>

() <NL> (d) None of these D

‘@éféncemaster.in
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HTML-@ o
¥ heading tag smex 77y o

(@ 4
(b) 6

© -5
(d) 2.

How m
any types of heading tags are there in HTML ?

(@ 4
(b) 6

© S d 2. (]

(xii)

Data integrity z=1
(a) data-# non-duplication :
(b)  data-¥ accuracy

(c) data-? security

(d) @99 data

Data integrity is
(@ Non-duplication of data

(b)  Accuracy of data sciencemaster.in

(c) Security of data

(d) Centralised data [:l
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(xiii) Fraferfue @A DBA-aa s @s

(a) Database Adviser (b)

(c)  Data Bank Adviser (d)

#(12)5030-(06)®-(NS)

Database Admirer

Database Administrator

Which of the following is the full form of DBA ?

(a)

Database Adviser

(b)

(c) Data Bank Adviser (d)

Database Admirer

Database Administrator

]

(xiv) DBMS-@3 relational model-a ¥ %%/ relationship (402 A16¥ 1% ?
(@ 2 (b) 3
() 4 (d 6
How many types of relationship are there in a relational model in
DBMS ?
(@ 2 (b) 3
() 4 (d 6 ]
(xv) @2 relation-97 ... QI ARPTS A Al |
(a) Super key (b) Candidate key
(c)  Primary key (d) Foreign key
[ 6716.1 ] |[NS8-COMA| SClenCemaSterln 10 of 24
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A relation cannot have 4 multiple ... .
(a) Suger - (b) Candidate key
i Pristiaty ey (d) Foreign key D
(xvi) Raw facts @3z figures-co 7oy = —
(@) Data (b) Information
()  Snapshot (d) Tables
Raw facts and figures are called
(@) Data (b) Information
(¢)  Snapshot (d) Tables D
(xvii) Databases-99 data dictionary-a3 ¥y e G o1 ZH
(a) Schema (b) Tuple
(c) Metadata (d) Record
The data that is stored in the data dictionary of databases is called
(a) Schema (b) Tuple
(c) Metadata (d) Record ' [:,
(xviii) MS-Excel-a7 file extension b 7
(@) .xIsx (b) .xlx
(c) xltx (d) .mslx
(6761] [wscoma] Sclencemaster.in = i1 ora
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Which of the following is the file extension of MS-Excel ?

(a)  .xIsx (b) .xIx

()  .xltx (d) .mslx D

(x1x)

MS-Excel-@ 53¢ Row @3t %% Column %41 5f¥@ cell-@7 address fe 7@ 2

(@) D7 (b) 7D
(c) G4 (d) 4G

What is the cell address which is formed by intersection of Fourth

row and Seventh column in MS-Excel ?

(@ D7 ' (b) 7D
© G4 d) 4G ]

o9dt / OR
MS-Excel-@ R5f#A1® @H group-93 @7 cell border (a3l 23 2
(a) Font (b) Style
(c) Cells (d) Alignment.
Cell border is given by which of the following group in MS-Excel ?
(a) Font (b) Style

c Cells (d) Alignment.
(c)

rerier] [meeoma) SClencemaster.in
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(xx) T @A syntax 5y

(@ SUM (Al -AS) b) SUM (Al & AS )

() SUM (A1;AS5) ) SUM(AI:AS)

Which one of the following syntax is correct ?

(@) SUM(A1-AS) (b) SUM (A1 $AS)

(c) SUM{ALZAS] (d) SUM (Al :AS) [ ]
(xxi) @3 workbook-a by default it @3 worksheet qre ?

@ 1 (b) 2

(@ 3 (d) 4

By default, how many worksheet(s) is/are there in a workbook ?

(@ 1 (b) 2

(© 3 (d 4 ]
(xxii) Fffs b g3 computer virus ?

(a) Quick Heal (b) Trojan Horse

(c)  Norton (d) OTF @GR 73

Which of the following is a computer virus ?

(a) Quick Heal (b) Trojan Horse

(c) Norton (d) None of these [:]

sciencemaster.in  **
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(xxiii) MS-Excel-d 4 T O @ ooy cojjp weqe wam o AGA W

function b T39S 2X ?

(a) merge (b) join
(c) set (d) add cell

Which of the following functions is used to merge two or more

consecutive cells in MS-Excel ?
(a) merge (b) join

(c) set (d) add cell I:I

(xxiv) .edu domain .............. website<(¥ represent @ |

(a) educational (b) commercial

(c) economical (d) @@ @S 771

.edu domain represents .............. website.

(a) educational (b) commercial |

() economical (d) none of these |:] '

owr] e SClENCEmMaster.in
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erafera wefiw 1 x18=

Answer the following questiong in short ( Alternatives ar¢ to be noted ) :
(i) XOR gate-93 truth table § crpur|

Write the truth table of XOR gate.
T:/Ans:

w9at / OR

3{¥@ 'NAND' gate IR @ 'OR' gate 5167 P |
Construct an 'OR' gate by using only 'NAND' gate.

©:/Ans:

(i) 4 x 1 MUX-&% block diagram-f6 <& 1|

Draw the block diagram of 4 x 1 MUX.

©:/Ans:

sclencemaster.in
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(iii)  Decoder circuit-93 375 & 2 '
What is the function of decoder circuit ?

T:/Ans:

dt / OR

1 x 4 DeMux-¢3 truth table- i1
Write the truth table of 1 x 4 DeMux.
¥:/Ans:

(ivy Baud rate IS F @RI ?
What is Baud rate ?
®:/Ans:

sciencemaster.in
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Ring topology-a wafp DR —
Write one disadvantage of Ring topology
T:/Ans: '

(v) Network topology 3ts & cran ¢
What do you mean by Network topology ?
¥:/Ans:

Internet € Intranet-a3 Y0 O3 NI |

(vi)
Write one difference between Internet and Intranet.
¥:/Ans:
scliencemaster.in
wva / OR
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E-mail *TTER 3 oo B2 1@ wmam CC e BCC 4% option s,

aafer a3 7

What are the full forms of the two options CC and BCC, of the
receiver's address space while sending an email ?

$:/Ans:

(vii)  'ISP'-@3 *faeifb e
Write the full form of 'ISP'.
©:/Ans:

(viiij HTML document-a3 9417 4f6 section & & 2

What are the two main sections of an HTML document ?
T:/Ans:

sclencemaster.in
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HTML-S <IMG> tag-an 4 agtribute s am oed!

Write the names of twq attributes of <IMG> tag 1" HTML.
©:/Ans:

(ix) ~HTML-99 SRIGT  webpage-9a background-4 'PINK' colour &3

syntax & 1o |

Write the syntax to give thé background colour as 'PINK' in a
webpag_e, using HTML.

T:/Ans:

(x)  <HR> tag-a3 & @ ?
What is the function of <HR> tag ?

€:/Ans:

sclencemaster.in
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<MARQUEE> tag-@3 31 f& ¢
What is the function of <MARQUEE> tag ?

(xi) DBMS-@3 @1 918 |
Define DBMS.
¥:/Ans:

(i) Database schema 1s f& @ 2

What do you mean by database schema ?
¥:/Ans:

sclencemaster.in
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(xiii) MS-Excel-@ ‘cell'-ga A qla |
Define ‘cell' in MS-Exce]
¥:/Ans:

wued / OR

MS-Excel-94 'ROUND' function-43 31& & 7
What is the use of 'ROUND' function in MS-Excel ?

T:/Ans:

(xiv) MS-Excel 2007-4% worksheet-a G FoaR 'Row' @3¢ 'Column’ 9% ?
How many 'Row and 'Column' are there in an MS-Excel 2007

worksheet ?

T:/Ans:

sclencemaster.in
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(xv) BUS topology- ¥ e et
Write one disadvantage of BUS topology.

©:/Ans:

vqt / OR

UTP cable-a3 sjfeifs camean
Write the full form of UTP cable.
®:/Ans:

(xvi) www-a3 ol oo |
Write the full form of www.
©:/Ans:

sclencemaster.in

’ mﬂ NS-COMA 22 of 24



sciencemaster.in 


*( 12]5030-(06]0-(1!31

(xvii) 2-input NOR gate-ga truth table B corear
Write the truth table of 2-input NOR gate.
€:/Ans:

(xviii) Attributes-a3 &I 714 |
Define attributes.
¥®:/Ans:

ueqt / OR

File system S DBMS IRTER @¥fb advantage Tl |
Write one advantage of using DBMS over file system.

T:/Ans:

sclencemaster.in
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